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QUESTION 1

Which two options are requirements to perform a migration between vCenter Server instances? (Choose two.)
A. The vCenter Server servers must be time-synchronized.

B. The ESXi hosts must be version 5.5 or later.

C. The vCenter Servers must be version 6.0 or later.

D. The vCenter Server must be in the same single Sign-On domain.

E. The ESXi hosts must have vSphere Standard, Advanced, or Enterprise Plus licensing.

Correct Answer: AC

QUESTION 2

Which two actions are prerequisites to adding ESXi 6.x hosts to a vSphere Distributed Switch? (Choose two.)
A. Verify that there is at least one Distributed Port Group on the Distributed Switch.

B. Verify that the Distributed Port Group have active uplinks configured in its teaming and failover policy.

C. Verify that the Distributed Switch has been configured with a Network Profile.

D. Verify that Network I/O control for Management Traffic is configured for the highest share value.

Correct Answer:. AB

QUESTION 3

What tool is utilized for detailed performance monitoring of the vCenter Server Appliance?
A. vim-cmd

B. esxtop

C. Perfmon

D. vimtop

Correct Answer: D

QUESTION 4

An administrator logs into the vSphere Web Client, but is unable to see any hosts and clusters. Which two options could
fix the problem? (Choose two.)
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A. Verify that the client web browser and vCenter Server are in the same broadcast domain.

B. Verify that the vCenter Server system is registered with the same Platform Services Controller as the vSphere Web
Client.

C. Log in to the vCenter Server as a user within the Active Directory domain.
D. Log in to the vSphere Web Client as a user with permissions on the vCenter Server system.

Correct Answer: BD

QUESTION 5

A junior vSphere Administrator takes a snapshot before logging into a VM to preserve the current state in
case of a problem.

Assuming this process is repeated every day for over 30 days, what two results will happen? (Choose
two.)

A. The virtual machine can end up consuming more space on the datastore than assigned

B. The virtual machine\\'s performance will decrease

C. The administrator will have backups for the entire month

D. The administrator has successfully cloned the VM 30 times

Correct Answer:. AB
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